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Solve the following word problems:
Best Shoes charges $57 for any 5 pairs of choes. Shoes Galore chargee $80 of any 12 pairs of hoes.

How much money is each pair of shoes at Best Shoee? How much ie each pair at Shoee Galore? Where should you shop?
7. Solve  2x+4>-8

2) ;(x—4)= 6(2x+5)  Solve for x
8) Qolve 4 -5x<2x+6
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B)dx+3y=16-2y What ic the clope and what i¢ the y-intercept of thie equation?
b )inen a point on the line ig (1, 3) and the slope ie 2, what is the formula for the line (hint: uge slope-intercept form)?
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